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[bookmark: _Ref124589705][bookmark: _Ref129681862]Introduction
In RAN1 #91, the following agreements have been achieved [1]:
· Support separate configuration of the number of PRACH transmission occasions FDMed in one time instance.
· Size of value range is 2 bits.
· From UE perspective, all available FDMed PRACH transmissions occasions for initial access are configured within the initial active uplink BWP.
· Initial Active UL BWP’s(s) frequency position
· Up to RAN4 to decide
· FFS default value
· Relative frequency offset of Msg1
· Note: This defines the offset of lowest PRACH transmission occasion in frequency domain with respective to PRB 0 of initial active UL BWP(s)
· Value: {0,1,…,Bandwidth of initial active UL BWP in terms of PRBs – Bandwidth of the RACH occasion in terms of PRBs}
· The FDMed RACH transmission occasions are consecutive in frequency domain.
· Note: Bandwidth of RACH transmission occasion is an integer number of PRBs including the guard tones.
· FFS indexing of FDMed RACH transmissions occasions
In this contribution, we will discuss the remaining details of NR-PRACH formats. We will present our opinions on the configurations of IAU BWP and the PRACH configuration.  

[bookmark: _Ref129681832]Preamble sequence generation
NR has agreed on two sets of preamble sequence with different length, and the sequence length is denoted by  in most equations in [2]. However, there are some typos mistaking  as  in some equations in  [2]. Hence we have the following proposal: 
[bookmark: _Ref503171816]Proposal 1: A consistent notation based on  for preamble sequence length is used.
A proposed text for this correction is provided in the Appendix A for Section 6.3.3.1 of TS 38.211[2]. 

RACH configuration table for paired spectrum of above and below 6GHz
Adopting similar RACH configurations tables design in LTE, the following guidelines for the RACH configuration table should apply:
· For RACH formats of long sequences, try to reuse items from LTE RACH configuration table.
· In every RACH configuration period, the number of ROs in time is not less than the number of the maximum number of SSBs, in order to support that different SSB can be associated with ROs in different time.
· Except for the guard period for preamble format A1, A2, and A3, no blank RACH OFDM symbol is reserved in order to reduce the waste of radio resource.
· For both below and above 6GHz, most of the items in the configuration table should work for both numerologies, i.e. 15 KHz and 30 KHz, 60 KHz and 120 KHz.
· up to 2 different candidate subframe numbers / 0.25 ms for each PRACH configuration period and starting OFDM symbol.
As for SUL, it is straightforward to use the same PRACH configuration table as that for paired spectrum. No requirement is foreseen to have a specific design. As a result, the RACH configuration tables for paired spectrum of below 6GHz and above 6GHz are illustrated in the appendix A and appendix B, respectively. Based on the above discussions, we have the proposals below. 
[bookmark: _Ref502652754][bookmark: _Ref498451498]Proposal 2: With paired spectrum and SUL, NR adopts PRACH configuration in Appendix B for below 6GHz. 
A proposed text for this correction is provided in the Appendix B for Section 6.3.3.2 of TS 38.211 [2]. 
[bookmark: _Ref503275904]Proposal 3: With paired spectrum and SUL, NR adopts PRACH configuration in Appendix C for above 6GHz. 
A proposed text for this correction is provided in the Appendix C for Section 6.3.3.2 of TS 38.211 [2]. 

Random access channel frequency multiplexing 
In NR, the mapping from PRACH resource to physical resource block in frequency is absent in the current TS 38.211. In LTE, a PRACH resource is mapped to physical resource block in frequency according to either a frequency offset parameter prach-FrequencyOffset or two sides of the uplink channel bandwidth if there are multiple resources in the same PRACH time instance. For example in TDD preamble format 0~3, the hoping is [2]: 

where  is the PRACH frequency index with the same time and  is the uplink bandwidth. 
The NR should also consider frequency hopping so as to provide frequency diversity during Msg1 retransmission. In different PRACH configuration periods, the SS/PBCH block can be mapped to PRACH resources with different frequency so as to provide better diversity, e.g., as shown in the following equation: 

where   is the PRACH frequency index with the same time instance,  is radio frame number of PRACH resource,  is PRACH configuration period (with unit frame),  is the bandwidth of initial active uplink bandwidth part,  is the bandwidth of the PRACH preamble in the subcarrier spacing of initial active uplink bandwidth part. Based on the above discussions, we have following proposal. 
[bookmark: _Ref498451513]Proposal 4: NR defines the mapping from RACH resources to physical resource block. 
[bookmark: _Ref503275911]Proposal 5: NR supports the mapping from RACH resources to physical resource block with frequency hopping across PRACH configuration periods.
A proposed text for this correction is provided in the Appendix D for Section 6.3.3.2 of TS 38.211[2]. 

[image: ]
Figure 1: PRACH frequency hopping across configuration period

Considerations for enhancement
Multiple initial active UL BWP
The initial active uplink bandwidth is used to accommodate PUSCH of Msg3 and PUCCH of Msg4 HARQ feedback, which is assumed to be smaller compared to the maximum NR channel bandwidth 275 RBs. The benefits of introducing the initial active UL BWP are
· Reducing the scheduling overhead of Msg3, where the possible scheduling frequency resources are reduced.
· Reducing the UE power consumption, since UE could possibly reduce the Tx bandwidth.
If gNB has a wide system bandwidth, it is reasonable to define multiple IAU BWPs to provide possible PRACH capacity enhancement, where it is not necessity to limit all the UEs within one common IAU BWP. If each UE may select one IAU BWP to perform random access randomly or according to some rules (e.g., Msg3 size, service type, PRACH resource), where the collision probability will be reduced and/or more information could be transmitted via Msg1. To reduce the configuration overhead in RMSI, all the IAU BWPs are mapped consecutively with the same numerology and bandwidth, each IAU BWP associates to a set of PRACH resource. Then gNB can only need configure a parameter of numerology and a parameter of bandwidth for multiple initial active BWPs in RMSI, and configure a parameter of frequency location for each initial active BWPs in RMSI at least for paired spectrum. 
For unpaired spectrum, it was agreed that initial active DL and initial active UL BWP share the same center frequency. The main motivation is to avoid UE to re-tune the RF frequency between DL and UL, and hence at least one IAU BWP should share the same center frequency. Even for unpaired spectrum, there are still some motivations to have more than one IAU BWP.
· Some UEs could have wider BW. In other words, such UEs can transmit in some IAU BWPs without re-tuning the RF frequency, where such IAU BWPs do not share the same center frequency BW with IA DL BWP.
· Intra-band re-turning between DL and UL is not a big issue for UE power consumption, and some UEs could have such ability.  Specifically, since UEs may be configured in any of the multiple DL/UL BWP pair, UE should have the ability to re-tune the RF frequency. Some UEs could have an ability that quickly re-tune the RF frequency between DL and UL.
Therefore, we have following proposal.
[bookmark: _Ref502325954][bookmark: _Ref497745850]Proposal 6: gNB should configure the numerology and bandwidth for multiple initial active UL BWPs in RMSI. The UE can select one initial active UL BWP to perform random access.

Conclusion
In this contribution, we discuss the PRACH configuration. The following proposals are made: 
Proposal 1: A consistent notation based on  for preamble sequence length is used.
Proposal 2: With paired spectrum and SUL, NR adopts PRACH configuration in Appendix B for below 6GHz.
Proposal 3: With paired spectrum and SUL, NR adopts PRACH configuration in Appendix C for above 6GHz.
Proposal 4: NR defines the mapping from RACH resources to physical resource block. 
Proposal 5: NR supports the mapping from RACH resources to physical resource block with frequency hopping across PRACH configuration periods.
Proposal 6: gNB should configure the numerology and bandwidth for multiple initial active UL BWPs in RMSI. The UE can select one initial active UL BWP to perform random access.
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Appendix A: Text proposal for preamble sequence generation 
---------------------------------- Start of Text Proposal ---------------------------------
<Unchanged parts omitted>
6.3.3.1	Sequence generation

Random-access preamble  shall be generated according to
<Unchanged parts omitted>

-	for 




-	for 




<Unchanged parts omitted>
------------------------------------End of Text Proposal -------------------------------



Appendix B: Text proposal for RACH configuration for paired spectrum and SUL / UL of below 6GHz
---------------------------------- Start of Text Proposal ---------------------------------
<Unchanged parts omitted>
Table 6.3.3.2-2: Random access configurations for FR1 and paired spectrum or for FR1 and SUL.
	PRACH Configuration
	Preamble Format
	System frame number
	Subframe number
	Start symbol Index
	Number of RACH slots within a subframe
	Number of RACH occasions within a RACH slot
	# of RO per RACH Config.  period

	0
	0
	SFN % 8 = 0
	1
	0
	N/A
	N/A
	 -

	1
	0
	SFN % 8 = 0
	6
	0
	N/A
	N/A
	 -

	2
	0
	SFN % 4 = 0
	1
	0
	N/A
	N/A
	 -

	3
	0
	SFN % 4 = 0
	6
	0
	N/A
	N/A
	 -

	4
	0
	SFN % 2 = 0
	1
	0
	N/A
	N/A
	 -

	5
	0
	SFN % 2 = 0
	6
	0
	N/A
	N/A
	 -

	6
	0
	Any
	1
	0
	N/A
	N/A
	 -

	7
	0
	Any
	6
	0
	N/A
	N/A
	 -

	8
	0
	Any
	1, 6
	0
	N/A
	N/A
	 -

	9
	0
	Any
	2, 7
	0
	N/A
	N/A
	 -

	10
	0
	Any
	1, 4, 7
	0
	N/A
	N/A
	 -

	11
	0
	Any
	2, 5, 8
	0
	N/A
	N/A
	 -

	12
	0
	Any
	0, 2, 4, 6, 8
	0
	N/A
	N/A
	 -

	13
	0
	Any
	1, 3, 5, 7, 9
	0
	N/A
	N/A
	 -

	14
	0
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	0
	N/A
	N/A
	 -

	15
	0
	SFN % 2 = 0
	9
	0
	N/A
	N/A
	 -

	16
	1
	SFN % 8 = 0
	1
	0
	N/A
	N/A
	 -

	17
	1
	SFN % 8 = 0
	6
	0
	N/A
	N/A
	 -

	18
	1
	SFN % 4 = 0
	1
	0
	N/A
	N/A
	 -

	19
	1
	SFN % 4 = 0
	6
	0
	N/A
	N/A
	 -

	20
	1
	SFN % 2 = 0
	1
	0
	N/A
	N/A
	 -

	21
	1
	SFN % 2 = 0
	6
	0
	N/A
	N/A
	 -

	22
	1
	Any
	1
	0
	N/A
	N/A
	 -

	23
	1
	Any
	6
	0
	N/A
	N/A
	 -

	24
	1
	Any
	1, 6
	0
	N/A
	N/A
	 -

	25
	1
	Any
	2, 7
	0
	N/A
	N/A
	 -

	26
	1
	Any
	1, 4, 7
	0
	N/A
	N/A
	 -

	27
	1
	Any
	2, 5, 8
	0
	N/A
	N/A
	 -

	28
	1
	SFN % 2 = 0
	9
	0
	N/A
	N/A
	 -

	29
	2
	SFN % 8 = 0
	1
	6
	N/A
	N/A
	 -

	30
	2
	SFN % 8 = 0
	6
	6
	N/A
	N/A
	 -

	31
	2
	SFN % 4 = 0
	1
	6
	N/A
	N/A
	 -

	32
	2
	SFN % 4 = 0
	6
	6
	N/A
	N/A
	 -

	33
	2
	SFN % 2 = 0
	1
	6
	N/A
	N/A
	 -

	34
	2
	SFN % 2 = 0
	6
	6
	N/A
	N/A
	 -

	35
	2
	Any
	1
	6
	N/A
	N/A
	 -

	36
	2
	Any
	6
	0
	N/A
	N/A
	 -

	37
	2
	Any
	1, 6
	0
	N/A
	N/A
	 -

	38
	2
	Any
	2, 7
	0
	N/A
	N/A
	 -

	39
	2
	SFN % 2 = 0
	9
	0
	N/A
	N/A
	 -

	40
	3
	SFN % 8 = 0
	1
	0
	N/A
	N/A
	 -

	41
	3
	SFN % 8 = 0
	6
	0
	N/A
	N/A
	 -

	42
	3
	SFN % 4 = 0
	1
	0
	N/A
	N/A
	 -

	43
	3
	SFN % 4 = 0
	6
	0
	N/A
	N/A
	 -

	44
	3
	SFN % 2 = 0
	1
	0
	N/A
	N/A
	 -

	45
	3
	SFN % 2 = 0
	6
	0
	N/A
	N/A
	 -

	46
	3
	Any
	1
	0
	N/A
	N/A
	 -

	47
	3
	Any
	6
	0
	N/A
	N/A
	 -

	48
	3
	Any
	1, 6
	0
	N/A
	N/A
	 -

	49
	3
	Any
	2, 7
	0
	N/A
	N/A
	 -

	50
	3
	Any
	1, 4, 7
	0
	N/A
	N/A
	 -

	51
	3
	Any
	2, 5, 8
	0
	N/A
	N/A
	 -

	52
	3
	Any
	0, 2, 4, 6, 8
	0
	N/A
	N/A
	 -

	53
	3
	Any
	1, 3, 5, 7, 9
	0
	N/A
	N/A
	 -

	54
	3
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	0
	N/A
	N/A
	 -

	55
	3
	SFN % 2 = 0
	9
	0
	N/A
	N/A
	 -

	56
	A1
	SFN % 16 = 0
	1, 6
	5
	1
	4
	8

	57
	A1
	SFN % 16 = 0
	2, 7
	5
	1
	4
	8

	58
	A1
	SFN % 8 = 0
	1,6
	5
	1
	4
	8

	59
	A1
	SFN % 8 = 0
	2,7
	5
	1
	4
	8

	60
	A1
	SFN % 4 = 0
	1,6
	5
	1
	4
	8

	61
	A1
	SFN % 4 = 0
	2,7
	5
	1
	4
	8

	62
	A1
	SFN % 2 = 0
	1,6
	5
	1
	4
	8

	63
	A1
	SFN % 2 = 0
	2,7
	5
	1
	4
	8

	64
	A1
	Any
	1,6
	5
	1
	4
	8

	65
	A1
	Any
	2,7
	5
	1
	4
	8

	66
	A1
	Any
	1,6
	1
	1
	6
	12

	67
	A1
	Any
	2,7
	1
	1
	6
	12

	68
	A1
	Any
	0,2,4,6,8
	1
	1
	6
	30

	69
	A1
	Any
	1,3,5,7,9
	1
	1
	6
	30

	70*
	A1
	Any
	0,2,4,6,8
	1
	2
	6
	60

	71*
	A1
	Any
	1,3,5,7,9
	1
	2
	6
	60

	72
	A1
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	1
	1
	6
	60

	73
	A2
	SFN % 16 = 0
	1,4,7
	1
	1
	3
	9

	74
	A2
	SFN % 16 = 0
	2,5,8
	1
	1
	3
	9

	75
	A2
	SFN % 8 = 0
	1,4,7
	1
	1
	3
	9

	76
	A2
	SFN % 8 = 0
	2,5,8
	1
	1
	3
	9

	77
	A2
	SFN % 4 = 0
	1,4,7
	1
	1
	3
	9

	78
	A2
	SFN % 4 = 0
	2,5,8
	1
	1
	3
	9

	79
	A2
	SFN % 2 = 0
	1,4,7
	1
	1
	3
	9

	80
	A2
	SFN % 2 = 0
	2,5,8
	1
	1
	3
	9

	81
	A2
	Any
	1,4,7
	1
	1
	3
	9

	82
	A2
	Any
	2,5,8
	1
	1
	3
	9

	83
	A2
	Any
	0,2,4,6,8
	1
	1
	3
	15

	84
	A2
	Any
	1,3,5,6,9
	1
	1
	3
	15

	85*
	A2
	Any
	0,2,4,6,8
	1
	2
	3
	30

	86*
	A2
	Any
	1,3,5,6,9
	1
	2
	3
	30

	87
	A2
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	1
	1
	3
	30

	88
	A3
	SFN % 16 = 0
	0,2,4,6,8
	1
	1
	2
	10

	89
	A3
	SFN % 16 = 0
	1,3,5,7,9
	1
	1
	2
	10

	90
	A3
	SFN % 8 = 0
	0,2,4,6,8
	1
	1
	2
	10

	91
	A3
	SFN % 8 = 0
	1,3,5,7,9
	1
	1
	2
	10

	92
	A3
	SFN % 4 = 0
	0,2,4,6,8
	1
	1
	2
	10

	93
	A3
	SFN % 4 = 0
	1,3,5,7,9
	1
	1
	2
	10

	94
	A3
	SFN % 2 = 0
	0,2,4,6,8
	1
	1
	2
	10

	95
	A3
	SFN % 2 = 0
	1,3,5,7,9
	1
	1
	2
	10

	96
	A3
	Any
	0,2,4,6,8
	1
	1
	2
	10

	97
	A3
	Any
	1,3,5,7,9
	1
	1
	2
	10

	98*
	A3
	Any
	0,2,4,6,8
	1
	2
	2
	20

	99*
	A3
	Any
	1,3,5,7,9
	1
	2
	2
	20

	100
	A3
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	1
	1
	2
	20

	101
	B4
	SFN % 16 = 0
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	102
	B4
	SFN % 16 = 8
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	103
	B4
	SFN % 8 = 0
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	104
	B4
	SFN % 8 = 4
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	105
	B4
	SFN % 4 = 0
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	106
	B4
	SFN % 4 = 2
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	107
	B4
	SFN % 2 = 0
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	108
	B4
	SFN % 2 = 1
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	109
	B4
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	1
	10

	110*
	B4
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	2
	1
	20

	111
	B1
	SFN % 16 = 0
	1, 6
	6
	1
	4
	8

	112
	B1
	SFN % 16 = 0
	2, 7
	6
	1
	4
	8

	113
	B1
	SFN % 8 = 0
	1,6
	6
	1
	4
	8

	114
	B1
	SFN % 8 = 0
	2,7
	6
	1
	4
	8

	115
	B1
	SFN % 4 = 0
	1,6
	6
	1
	4
	8

	116
	B1
	SFN % 4 = 0
	2,7
	6
	1
	4
	8

	117
	B1
	SFN % 2 = 0
	1,6
	6
	1
	4
	8

	118
	B1
	SFN % 2 = 0
	2,7
	6
	1
	4
	8

	119
	B1
	Any
	1,6
	6
	1
	4
	8

	120
	B1
	Any
	2,7
	6
	1
	4
	8

	121
	B1
	Any
	1,6
	2
	1
	6
	12

	122
	B1
	Any
	2,7
	2
	1
	6
	12

	123
	B1
	Any
	0,2,4,6,8
	2
	1
	6
	30

	124
	B1
	Any
	1,3,5,7,9
	2
	1
	6
	30

	125*
	B1
	Any
	0,2,4,6,8
	2
	2
	6
	60

	126*
	B1
	Any
	1,3,5,7,9
	2
	2
	6
	60

	127
	B1
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	6
	60

	128
	A1/B1
	SFN % 16 = 0
	1, 6
	6
	1
	4
	8

	129
	A1/B1
	SFN % 16 = 0
	2, 7
	6
	1
	4
	8

	130
	A1/B1
	SFN % 8 = 0
	1,6
	6
	1
	4
	8

	131
	A1/B1
	SFN % 8 = 0
	2,7
	6
	1
	4
	8

	132
	A1/B1
	SFN % 4 = 0
	1,6
	6
	1
	4
	8

	133
	A1/B1
	SFN % 4 = 0
	2,7
	6
	1
	4
	8

	134
	A1/B1
	SFN % 2 = 0
	1,6
	6
	1
	4
	8

	135
	A1/B1
	SFN % 2 = 0
	2,7
	6
	1
	4
	8

	136
	A1/B1
	Any
	1,6
	6
	1
	4
	8

	137
	A1/B1
	Any
	2,7
	6
	1
	4
	8

	138
	A1/B1
	Any
	1,6
	2
	1
	6
	12

	139
	A1/B1
	Any
	2,7
	2
	1
	6
	12

	140
	A1/B1
	Any
	0,2,4,6,8
	2
	1
	6
	30

	141
	A1/B1
	Any
	1,3,5,7,9
	2
	1
	6
	30

	142*
	A1/B1
	Any
	0,2,4,6,8
	2
	2
	6
	60

	143*
	A1/B1
	Any
	1,3,5,7,9
	2
	2
	6
	60

	144
	A1/B1
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	6
	60

	145
	A2/B2
	SFN % 16 = 0
	1,4,7
	2
	1
	3
	9

	146
	A2/B2
	SFN % 16 = 0
	2,5,8
	2
	1
	3
	9

	147
	A2/B2
	SFN % 8 = 0
	1,4,7
	2
	1
	3
	9

	148
	A2/B2
	SFN % 8 = 0
	2,5,8
	2
	1
	3
	9

	149
	A2/B2
	SFN % 4 = 0
	1,4,7
	2
	1
	3
	9

	150
	A2/B2
	SFN % 4 = 0
	2,5,8
	2
	1
	3
	9

	151
	A2/B2
	SFN % 2 = 0
	1,4,7
	2
	1
	3
	9

	152
	A2/B2
	SFN % 2 = 0
	2,5,8
	2
	1
	3
	9

	153
	A2/B2
	Any
	1,4,7
	2
	1
	3
	9

	154
	A2/B2
	Any
	2,5,8
	2
	1
	3
	9

	155
	A2/B2
	Any
	0,2,4,6,8
	2
	1
	3
	15

	156
	A2/B2
	Any
	1,3,5,6,9
	2
	1
	3
	15

	157*
	A2/B2
	Any
	0,2,4,6,8
	2
	2
	3
	30

	158*
	A2/B2
	Any
	1,3,5,6,9
	2
	2
	3
	30

	159
	A2/B2
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	3
	30

	160
	A3/B3
	SFN % 16 = 0
	0,2,4,6,8
	2
	1
	2
	10

	161
	A3/B3
	SFN % 16 = 0
	1,3,5,7,9
	2
	1
	2
	10

	162
	A3/B3
	SFN % 8 = 0
	0,2,4,6,8
	2
	1
	2
	10

	163
	A3/B3
	SFN % 8 = 0
	1,3,5,7,9
	2
	1
	2
	10

	164
	A3/B3
	SFN % 4 = 0
	0,2,4,6,8
	2
	1
	2
	10

	165
	A3/B3
	SFN % 4 = 0
	1,3,5,7,9
	2
	1
	2
	10

	166
	A3/B3
	SFN % 2 = 0
	0,2,4,6,8
	2
	1
	2
	10

	167
	A3/B3
	SFN % 2 = 0
	1,3,5,7,9
	2
	1
	2
	10

	168
	A3/B3
	Any
	0,2,4,6,8
	2
	1
	2
	10

	169
	A3/B3
	Any
	1,3,5,7,9
	2
	1
	2
	10

	170*
	A3/B3
	Any
	0,2,4,6,8
	2
	2
	2
	20

	171*
	A3/B3
	Any
	1,3,5,7,9
	2
	2
	2
	20

	172
	A3/B3
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	2
	20

	173
	C0
	SFN % 16 = 0
	1,6
	7
	1
	4
	8

	174
	C0
	SFN % 16 = 0
	2,7
	7
	1
	4
	8

	175
	C0
	SFN % 8 = 0
	1,6
	7
	1
	4
	8

	176
	C0
	SFN % 8 = 0
	2,7
	7
	1
	4
	8

	177
	C0
	SFN % 4 = 0
	1,6
	7
	1
	4
	8

	178
	C0
	SFN % 4 = 0
	2,7
	7
	1
	4
	8

	179
	C0
	SFN % 2 = 0
	1,6
	7
	1
	4
	8

	180
	C0
	SFN % 2 = 0
	2,7
	7
	1
	4
	8

	181
	C0
	Any
	1,6
	7
	1
	4
	8

	182
	C0
	Any
	2,7
	7
	1
	4
	8

	183
	C0
	Any
	1,4,7
	7
	1
	4
	12

	184
	C0
	Any
	2,5,8
	7
	1
	4
	12

	185
	C0
	Any
	0,2,4,6,8
	7
	1
	4
	20

	186
	C0
	Any
	1,3,5,7,9
	7
	1
	4
	20

	187*
	C0
	Any
	0,2,4,6,8
	7
	2
	4
	40

	188*
	C0
	Any
	1,3,5,7,9
	7
	2
	4
	40

	189
	C0
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	7
	1
	4
	40

	190
	C0
	SFN % 16 = 0
	1,6
	6
	1
	4
	8

	191
	C0
	SFN % 16 = 0
	2,7
	6
	1
	4
	8

	192
	C0
	SFN % 8 = 0
	1,6
	6
	1
	4
	8

	193
	C0
	SFN % 8 = 0
	2,7
	6
	1
	4
	8

	194
	C0
	SFN % 4 = 0
	1,6
	6
	1
	4
	8

	195
	C0
	SFN % 4 = 0
	2,7
	6
	1
	4
	8

	196
	C0
	SFN % 2 = 0
	1,6
	6
	1
	4
	8

	197
	C0
	SFN % 2 = 0
	2,7
	6
	1
	4
	8

	198
	C0
	Any
	1,6
	6
	1
	4
	8

	199
	C0
	Any
	2,7
	6
	1
	4
	8

	200
	C0
	Any
	1,4,7
	6
	1
	4
	12

	201
	C0
	Any
	2,5,8
	6
	1
	4
	12

	202
	C0
	Any
	0,2,4,6,8
	6
	1
	4
	20

	203
	C0
	Any
	1,3,5,7,9
	6
	1
	4
	20

	204*
	C0
	Any
	0,2,4,6,8
	6
	2
	4
	40

	205*
	C0
	Any
	1,3,5,7,9
	6
	2
	4
	40

	206
	C0
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	6
	1
	4
	40

	207
	C2
	SFN % 16 = 0
	0,2,4,6,8
	3
	1
	2
	10

	208
	C2
	SFN % 16 = 0
	1,3,5,7,9
	3
	1
	2
	10

	209
	C2
	SFN % 8 = 0
	0,2,4,6,8
	3
	1
	2
	10

	210
	C2
	SFN % 8 = 0
	1,3,5,7,9
	3
	1
	2
	10

	211
	C2
	SFN % 4 = 0
	0,2,4,6,8
	3
	1
	2
	10

	212
	C2
	SFN % 4 = 0
	1,3,5,7,9
	3
	1
	2
	10

	213
	C2
	SFN % 2 = 0
	0,2,4,6,8
	3
	1
	2
	10

	214
	C2
	SFN % 2 = 0
	1,3,5,7,9
	3
	1
	2
	10

	215
	C2
	Any
	0,2,4,6,8
	3
	1
	2
	10

	216
	C2
	Any
	1,3,5,7,9
	3
	1
	2
	10

	217
	C2
	Any
	0,2,4,6,8
	3
	2
	2
	20

	218
	C2
	Any
	1,3,5,7,9
	3
	2
	2
	20

	219
	C2
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	3
	1
	2
	20

	220
	C2
	SFN % 16 = 0
	0,2,4,6,8
	2
	1
	2
	10

	221
	C2
	SFN % 16 = 0
	1,3,5,7,9
	2
	1
	2
	10

	222
	C2
	SFN % 8 = 0
	0,2,4,6,8
	2
	1
	2
	10

	223
	C2
	SFN % 8 = 0
	1,3,5,7,9
	2
	1
	2
	10

	224
	C2
	SFN % 4 = 0
	0,2,4,6,8
	2
	1
	2
	10

	225
	C2
	SFN % 4 = 0
	1,3,5,7,9
	2
	1
	2
	10

	226
	C2
	SFN % 2 = 0
	0,2,4,6,8
	2
	1
	2
	10

	227
	C2
	SFN % 2 = 0
	1,3,5,7,9
	2
	1
	2
	10

	228
	C2
	Any
	0,2,4,6,8
	2
	1
	2
	10

	229
	C2
	Any
	1,3,5,7,9
	2
	1
	2
	10

	230
	C2
	Any
	0,2,4,6,8
	2
	2
	2
	20

	231
	C2
	Any
	1,3,5,7,9
	2
	2
	2
	20

	232
	C2
	Any
	0, 1, 2, 3, 4, 5, 6, 7, 8, 9
	2
	1
	2
	20

	233~255
	Reserved

	Remark
	* is for 30 kHz only. 



<Unchanged parts omitted>
------------------------------------End of Text Proposal -------------------------------

Appendix C: Text proposal for RACH configuration for paired spectrum and SUL / UL of above 6GHz
---------------------------------- Start of Text Proposal ---------------------------------
<Unchanged parts omitted>
Table 6.3.3.2-3: Random access configurations for FR2 and paired spectrum or for FR2 and SUL
	PRACH Configuration
	Preamble Format
	System frame number
	0.25ms index (idx) 
	Start symbol Index
	Number of RACH slots within 0.25ms
	# of RO per 0.25
	# of RO per RACH Config. period

	0
	A1
	SFN % 16 = 0
	idx mod 3=1
	1
	1
	6
	78

	1
	A1
	SFN % 16 = 0
	idx mod 3=2
	1
	1
	6
	78

	2
	A1
	SFN % 8 = 0
	idx mod 3=1
	1
	1
	6
	78

	3
	A1
	SFN % 8 = 0
	idx mod 3=2
	1
	1
	6
	78

	4
	A1
	SFN % 4 = 0
	idx mod 3=1
	1
	1
	6
	78

	5
	A1
	SFN % 4 = 0
	idx mod 3=2
	1
	1
	6
	78

	6
	A1
	SFN % 2 = 0
	idx mod 3=1
	1
	1
	6
	78

	7
	A1
	SFN % 2 = 0
	idx mod 3=2
	1
	1
	6
	78

	8
	A1
	Any
	idx mod 3=1
	1
	1
	6
	78

	9
	A1
	Any
	idx mod 3=2
	1
	1
	6
	78

	10*
	A1
	Any
	idx mod 3=1
	1
	2
	6
	156

	11*
	A1
	Any
	idx mod 3=2
	1
	2
	6
	156

	12
	A1
	Any
	idx mod 2=0
	1
	1
	6
	120

	13
	A1
	Any
	Any
	1
	1
	6
	240

	14
	A2
	SFN % 16 = 0
SFN % 16 =8
	idx mod 2=0
	1
	1
	3
	120

	15
	A2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	1
	1
	3
	120

	16
	A2
	SFN % 8 = 0
SFN % 8 =4
	idx mod 2=0
	1
	1
	3
	120

	17
	A2
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=1
	1
	1
	3
	120

	18
	A2
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=0
	1
	1
	3
	120

	19
	A2
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=1
	1
	1
	3
	120

	20
	A2
	SFN % 2 = 0
SFN % 2 = 1
	idx mod 2=0
idx mod 2 =1
	1
	1
	3
	120

	21
	A2*
	Any
	idx mod 2=0
	1
	2
	3
	120

	22
	A2*
	Any
	idx mod 2=1
	1
	2
	3
	120

	23
	A2
	Any
	Any
	1
	1
	3
	120

	24
	A2
	SFN % 16 = 0
SFN % 16 =8
	idx mod 2=0
	1
	1
	3
	120

	25
	A2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	1
	1
	3
	120

	26
	A2
	SFN % 8 = 0
SFN % 8 =4
	idx mod 2=0
	1
	1
	3
	120

	27
	A3
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=0
	1
	1
	2
	80

	28
	A3
	SFN % 16 = 4
SFN % 16 = 12

	idx mod 2=1
	1
	1
	2
	80

	29
	A3
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=0
	1
	1
	2
	80

	30
	A3
	SFN % 8 = 0
SFN % 8 =4
	idx mod 2=1
	1
	1
	2
	80

	31
	A3
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=0
	1
	1
	2
	80

	32
	A3
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=1
	1
	1
	2
	80

	33
	A3
	SFN % 2 = 0
SFN % 2 = 1
	idx mod 2=0
	1
	1
	2
	80

	34
	A3
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=1
	1
	1
	2
	80

	35
	A3*
	Any
	idx mod 2=0
	1
	2
	2
	80

	36
	A3*
	Any
	idx mod 2=1
	1
	2
	2
	80

	37
	A3
	Any
	Any
	1
	1
	2
	80

	38
	B4
	SFN % 16 = 0
SFN % 16 = 4
SFN % 16 = 8
SFN % 16 = 12
	idx mod 2 = 0
idx mod 2 = 0 idx mod 2 = 0 
idx mod 2 = 0 
	2
	1
	1
	80

	39
	B4
	SFN % 8 = 0
SFN % 8 = 2
SFN % 8 = 4
SFN % 8 = 6
	idx mod 2 =0
idx mod 2 = 0
idx mod 2 = 0
idx mod 2 = 0
	2
	1
	1
	80

	40
	B4
	SFN % 4 = 0
SFN % 4 = 2
	Any
	2
	1
	1
	80

	41*
	B4
	SFN % 2 = 0
SFN % 2 = 1
	Any
	2
	1
	1
	80

	42
	B4*
	Any
	Any
	2
	2
	1
	80

	43
	B1
	SFN % 16 = 0
	idx mod 3=1
	0
	1
	7
	91

	44
	B1
	SFN % 16 = 0
	idx mod 3=2
	0
	1
	7
	91

	45
	B1
	SFN % 8 = 0
	idx mod 3=1
	0
	1
	7
	91

	46
	B1
	SFN % 8 = 0
	idx mod 3=2
	0
	1
	7
	91

	47
	B1
	SFN % 4 = 0
	idx mod 3=1
	0
	1
	7
	91

	48
	B1
	SFN % 4 = 0
	idx mod 3=2
	0
	1
	7
	91

	49
	B1
	SFN % 2 = 0
	idx mod 3=1
	0
	1
	7
	91

	50
	B1
	SFN % 2 = 0
	idx mod 3=2
	0
	1
	7
	91

	51
	B1
	Any
	idx mod 3=1
	0
	1
	7
	91

	52
	B1
	Any
	idx mod 3=2
	0
	1
	7
	91

	53
	B1
	Any
	idx mod 3=0
	0
	1
	7
	98

	54
	B1*
	Any
	idx mod 2=0
	0
	2
	7
	280

	55
	B1*
	Any
	idx mod 2=1
	0
	2
	7
	280

	56
	B1
	Any
	Any
	0
	1
	7
	280

	57
	B1
	SFN % 16 = 0
	idx mod 3=1
	2
	1
	6
	78

	58
	B1
	SFN % 16 = 0
	idx mod 3=2
	2
	1
	6
	78

	59
	B1
	SFN % 8 = 0
	idx mod 3=1
	2
	1
	6
	78

	60
	B1
	SFN % 8 = 0
	idx mod 3=2
	2
	1
	6
	78

	61
	B1
	SFN % 4 = 0
	idx mod 3=1
	2
	1
	6
	78

	62
	B1
	SFN % 4 = 0
	idx mod 3=2
	2
	1
	6
	78

	63
	B1
	SFN % 2 = 0
	idx mod 3=1
	2
	1
	6
	78

	64
	B1
	SFN % 2 = 0
	idx mod 3=2
	2
	1
	6
	78

	65
	B1
	Any
	idx mod 3=1
	2
	1
	6
	78

	66
	B1
	Any
	idx mod 3=2
	2
	1
	6
	78

	67
	B1
	Any
	idx mod 3=0
	2
	1
	6
	84

	68
	B1*
	Any
	idx mod 2=0
	2
	2
	6
	240

	69
	B1*
	Any
	idx mod 2=1
	2
	2
	6
	240

	70
	B1
	Any
	Any
	2
	1
	6
	240

	71
	A1/B1
	SFN % 16 = 0
	idx mod 3=1
	0
	1
	7
	91

	72
	A1/B1
	SFN % 16 = 0
	idx mod 3=2
	0
	1
	7
	91

	73
	A1/B1
	SFN % 8 = 0
	idx mod 3=1
	0
	1
	7
	91

	74
	A1/B1
	SFN % 8 = 0
	idx mod 3=2
	0
	1
	7
	91

	75
	A1/B1
	SFN % 4 = 0
	idx mod 3=1
	0
	1
	7
	91

	76
	A1/B1
	SFN % 4 = 0
	idx mod 3=2
	0
	1
	7
	91

	77
	A1/B1
	SFN % 2 = 0
	idx mod 3=1
	0
	1
	7
	91

	78
	A1/B1
	SFN % 2 = 0
	idx mod 3=2
	0
	1
	7
	91

	79
	A1/B1
	Any
	idx mod 3=1
	0
	1
	7
	91

	80
	A1/B1
	Any
	idx mod 3=2
	0
	1
	7
	91

	81
	A1/B1
	Any
	idx mod 3=0
	0
	1
	7
	98

	82
	A1/B1*
	Any
	idx mod 2=0
	0
	2
	7
	280

	83
	A1/B1*
	Any
	idx mod 2=1
	0
	2
	7
	280

	84
	A1/B1
	Any
	Any
	0
	1
	7
	280

	85
	A1/B1
	SFN % 16 = 0
	idx mod 3=1
	2
	1
	6
	78

	86
	A1/B1
	SFN % 16 = 0
	idx mod 3=2
	2
	1
	6
	78

	87
	A1/B1
	SFN % 8 = 0
	idx mod 3=1
	2
	1
	6
	78

	88
	A1/B1
	SFN % 8 = 0
	idx mod 3=2
	2
	1
	6
	78

	89
	A1/B1
	SFN % 4 = 0
	idx mod 3=1
	2
	1
	6
	78

	90
	A1/B1
	SFN % 4 = 0
	idx mod 3=2
	2
	1
	6
	78

	91
	A1/B1
	SFN % 2 = 0
	idx mod 3=1
	2
	1
	6
	78

	92
	A1/B1
	SFN % 2 = 0
	idx mod 3=2
	2
	1
	6
	78

	93
	A1/B1
	Any
	idx mod 3=1
	2
	1
	6
	78

	94
	A1/B1
	Any
	idx mod 3=2
	2
	1
	6
	78

	95
	A1/B1
	Any
	idx mod 3=0
	2
	1
	6
	84

	96
	A1/B1*
	Any
	idx mod 2=0
	2
	2
	6
	240

	97
	A1/B1*
	Any
	idx mod 2=1
	2
	2
	6
	240

	98
	A1/B1
	Any
	Any
	2
	1
	6
	240

	99
	A2/B2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=0
	2
	1
	3
	120

	100
	A2/B2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	2
	1
	3
	120

	101
	A2/B2
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=0
	2
	1
	3
	120

	102
	A2/B2
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=1
	2
	1
	3
	120

	103
	A2/B2
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=0
	2
	1
	3
	120

	104
	A2/B2
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=1
	2
	1
	3
	120

	105
	A2/B2
	SFN % 2 = 0
SFN % 2 = 1
	idx mod 2=0
idx mod 2 =1
	2
	1
	3
	120

	106
	A2/B2*
	Any
	idx mod 2=0
	2
	2
	3
	120

	107
	A2/B2*
	Any
	idx mod 2=1
	2
	2
	3
	120

	108
	A2/B2
	Any
	Any
	2
	1
	3
	120

	109
	A3/B3
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=0
	2
	1
	2
	80

	110
	A3/B3
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	2
	1
	2
	80

	111
	A3/B3
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=0
	2
	1
	2
	80

	112
	A3/B3
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=1
	2
	1
	2
	80

	113
	A3/B3
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=0
	2
	1
	2
	80

	114
	A3/B3
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=1
	2
	1
	2
	80

	115
	A3/B3
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=0
	2
	1
	2
	80

	116
	A3/B3
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=1
	2
	1
	2
	80

	117
	A3/B3*
	Any
	idx mod 2=0
	2
	2
	2
	80

	118
	A3/B3*
	Any
	idx mod 2=1
	2
	2
	2
	80

	119
	A3/B3
	Any
	Any
	2
	1
	2
	80

	120
	C0
	SFN % 16 = 0
	idx mod 2=0
	7
	1
	4
	80

	121
	C0
	SFN % 16 = 0
	idx mod 2=1
	7
	1
	4
	80

	122
	C0
	SFN % 8 = 0
	idx mod 2=0
	7
	1
	4
	80

	123
	C0
	SFN % 8 = 0
	idx mod 2=1
	7
	1
	4
	80

	124
	C0
	SFN % 4 = 0
	idx mod 2=0
	7
	1
	4
	80

	125
	C0
	SFN % 4 = 0
	idx mod 2=1
	7
	1
	4
	80

	126
	C0
	SFN % 2 = 0
	idx mod 2=0
	7
	1
	4
	80

	127
	C0
	SFN % 2 = 0
	idx mod 2=1
	7
	1
	4
	80

	128
	C0
	Any
	idx mod 2=0
	7
	1
	4
	80

	129
	C0
	Any
	idx mod 2=1
	7
	1
	4
	80

	130
	C0*
	Any
	idx mod 2=0
	7
	2
	4
	160

	131
	C0*
	Any
	idx mod 2=1
	7
	2
	4
	160

	132
	C0
	Any
	Any
	7
	1
	4
	160

	133
	C0
	SFN % 16 = 0
	idx mod 3=1
	0
	1
	7
	91

	134
	C0
	SFN % 16 = 0
	idx mod 3=2
	0
	1
	7
	91

	135
	C0
	SFN % 8 = 0
	idx mod 3=1
	0
	1
	7
	91

	136
	C0
	SFN % 8 = 0
	idx mod 3=2
	0
	1
	7
	91

	137
	C0
	SFN % 4 = 0
	idx mod 3=1
	0
	1
	7
	91

	138
	C0
	SFN % 4 = 0
	idx mod 3=2
	0
	1
	7
	91

	139
	C0
	SFN % 2 = 0
	idx mod 3=1
	0
	1
	7
	91

	140
	C0
	SFN % 2 = 0
	idx mod 3=2
	0
	1
	7
	91

	141
	C0
	Any
	idx mod 3=1
	0
	1
	7
	91

	142
	C0
	Any
	idx mod 3=2
	0
	1
	7
	91

	143
	C0*
	Any
	idx mod 3=0
	0
	1
	7
	98

	144
	C0*
	Any
	idx mod 2=0
	0
	2
	7
	280
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	C0
	Any
	Any
	0
	1
	7
	280

	146
	C2
	SFN % 16 = 0
SFN % 16 =8
	idx mod 2=0
	3
	1
	2
	80

	147
	C2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	3
	1
	2
	80

	148
	C2
	SFN % 8 = 0
SFN % 8 =4
	idx mod 2=0
	3
	1
	2
	80

	149
	C2
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=1
	3
	1
	2
	80

	150
	C2
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=0
	3
	1
	2
	80

	151
	C2
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=1
	3
	1
	2
	80

	152
	C2
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=0
	3
	1
	2
	80

	153
	C2
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=1
	3
	1
	2
	80

	154
	C2*
	Any
	idx mod 2=0
	3
	2
	2
	80

	155
	C2*
	Any
	idx mod 2=1
	3
	2
	2
	80

	156
	C2
	Any
	Any
	3
	1
	2
	80

	157
	C2
	SFN % 16 = 0
SFN % 16 =8
	idx mod 2=0
	2
	1
	2
	80

	158
	C2
	SFN % 16 = 0
SFN % 16 = 8
	idx mod 2=1
	2
	1
	2
	80

	159
	C2
	SFN % 8 = 0
SFN % 8 =4
	idx mod 2=0
	2
	1
	2
	80

	160
	C2
	SFN % 8 = 0
SFN % 8 = 4
	idx mod 2=1
	2
	1
	2
	80

	161
	C2
	SFN % 4 = 0
SFN % 4 =2
	idx mod 2=0
	2
	1
	2
	80

	162
	C2
	SFN % 4 = 0
SFN % 4 = 2
	idx mod 2=1
	2
	1
	2
	80

	163
	C2
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=0
	2
	1
	2
	80

	164
	C2
	SFN % 2 = 0
SFN % 2 =1
	idx mod 2=1
	2
	1
	2
	80

	165
	C2*
	Any
	idx mod 2=0
	2
	2
	2
	80

	166
	C2*
	Any
	idx mod 2=1
	2
	2
	2
	80

	167
	C2
	Any
	Any
	2
	1
	2
	80

	168~255
	Reserved 

	Remark
	* is for 120 kHz only. 
The range of idx in (idx mod 3) is [1~39], otherwise is [0~39]


<Unchanged parts omitted>
------------------------------------End of Text Proposal -------------------------------

Appendix D: Text proposal for PRACH frequency multiplexing 
---------------------------------- Start of Text Proposal ---------------------------------

<Unchanged parts omitted>
[bookmark: _Toc500952679]6.3.3.2	Mapping to physical resources
The preamble sequence shall be mapped to physical resources according to





where physical resources overlapping resources declared as ‘reserved’ according to clause 4.4.3 shall be counted in the mapping process but not used for transmission,  is an amplitude scaling factor in order to conform to the transmit power specified in [5, TS38.213], and  is the antenna port. Baseband signal generation shall be done according to clause 5.3 using the parameters in Table 6.3.3.1-1 or Table 6.3.3.1-2 with  given by Table 6.3.3.2-1.
Random access preambles can only be transmitted in the time and frequency resources given by the higher-layer parameter PRACHConfigurationIndex according to Table 6.3.3.2-2 depends on FR1 or FR2 and the spectrum type as defined in [TS38.101]. For the purpose of slot numbering in the tables, the following subcarrier spacing shall be assumed:

-	 for PRACH preamble formats 0 – 3


-	for PRACH preamble formats A1, A2, A3, B1, B2, B3, B4, C0, C2 where  is the configured PRACH subcarrier spacing.
The frequency multiplexing shall be done according to

Where  is the relative offset of the first PRACH occasion in frequency domain with respective to PRB 0 of initial active UL BWP,  is the PRACH frequency index in the time instance,  is radio frame number of PRACH occasion,  is PRACH configuration period (with unit frame),  is the bandwidth of initial active uplink bandwidth part,  is the bandwidth of the PRACH preamble as given in Table 6.3.3.2-1.
<Unchanged parts omitted>
------------------------------------End of Text Proposal -------------------------------
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